A EREFRHE

(B FITHEAH 1 HBIE)
" " Ea F & OB (1)
. i 5% oM BoH | mBEZE

SR BRRR A AT H A5 FEORE 64 | 29,000 11, 000
O EEE RERE () H A ROk 145 | 11,000 11, 000
PR B SRR e (HRT) RS FECE) 14 | 11,000 11, 000
o5 1 T [ AR RO i 58 SE R AT H RS OB 54E | 149,800 | 138,200
o5 2 TR 8 A B S AR 50 SEFF T HR RS OB 54E | 131,600 | 115,500
S Sy L R 7 [ S B R 5 SE R R R R TR ASORk 6 4 6, 300 4, 000
G M P i i = FEER A1 i B i 58 3E7F AT H &6 2808k 54E | 131,600 | 115,500
= S A B e R R R RS AR 54E | 58,800 | 47,200
LB i B R 5 367 R H A R0kt 54E | 58,800 47,200
5 1 TR Rt i T R o0 265 PT H RE ROk 54F | 149,800 | 138,200
5 2 Tl R R e B A 98 2E 7T T H AR FRORE 54 | 131,600 | 115,500
o5 3 Tl R R R e S A 98 2E 7T T H AR RO 54 | 95,200 | 70,000
TRAN2 W7 FH 122 3 it s I 7 237 T W 36 0kt 54 | 131,600 | 115,500
PR 0 A B B R o8 25 PT HR RE TR k) 54 | 149,800 | 138,200
[ 34% it S E I 9 E 5T PTRIE A AL A ARk 2, 000
122 38 it S LS Al 8 2 FF T RIE RS A AT ARk 2, 900
(2 38t B SE R R R GE T RORE (R R B ) 54E | 90,300 50, 700
2 AR N BOE SE R T RS RO (— %) 54E | 85,400 48, 100
[ 38t RO SE R TGS T RORE (5% 54E | 47,600 24, 100
122 38t R T O SR T B0 Bk FR B T 0K 54 | 38,000 20, 100
TRF1 2 W P 2= 3 A s 36 Bk R 5 R 250kt 54 | 38,000 20, 100
B B3 R 7 1R i S R T R R TR0k 64 | 11,000 5, 600
e A RS ZE R T H RS OB (B A dh) 54| 85,400 | 48,100
e B A i & ZE R AT FH RS FECEE (—%) 54 | 39,900 25, 200
e A i R ZE R T S FHORE (R3E%) 54 | 33,600 24, 100
[ S A4 i AR X PR SR T R ik R R TR A8ORk 54| 27,600 20, 100
L BE i LG 67 W] R TR (—H%) 54 | 39,900 25, 200
LBt UG FEFF w] RS FRCRE (1345) 54 | 33,600 24, 100
LB it R E PR RLE TRk Bk R 58 480kt 54| 27,600 20, 100
B AR o R 0 3 B ik FH 5 T H80R) 54E | 38,000 20, 100
R BOE X Sy (M) 228 GBIN) 7] g5 A0k 81, 200
AL AOE Xy (k) ZE GBI 7 el HEEFEcE 77, 000
ERMBOE X sy (3E5%) Z8 GBI 7Fa]HEE FEcek 41, 300
AR EOEC sy (ER) A% GBI FF ) B s FE0k 77, 000
EAMRELEDC Sy () A GBI FF T B S FECE 35, 700
oM ELE X Sy (H3E5E) 28 GBI FF ] R FECk 30, 800
{EBESR S Sy (—f) 2 GBI FF T B &5 FE0k 35, 700
EpEim LG X sy (E3E5E) 228 GBI #F ] g5 FE0k 30, 800




A EREFRHE

(& FAT4EAH LB BIFE)
g Eiga) F OB ()
Rl i e
R ERLE ([BBR) ZEFFWT ORER) FEEHLAZ N FEok 2, 000
@%&%@%(%ﬁ)%ﬁﬁ(%ﬁ)ﬁﬁiﬁiﬁﬂ 2, 900
E%%%ﬁ% aEEECRE (T A) 195, 200
7% 3 i T A e (R)R) 34, 500
E%mim%mﬂ% i TECEE (2 0fth) 69, 300
B R B IR 58 5 5 B i e 7k R A R A0k 90
[P HEER A B A e KGR 34, 000
/ ﬁﬁ%ﬁﬂ(ﬁ-Eﬁm% BRF AL 94, 000
PEA FECBE (— RGBS A 60, 500
'ﬁﬁiﬁﬂ(ﬁ% FRARFI AT 29, 600
PER A FRORE ORFERF AL 29, 600
'ﬁﬁiﬁﬂ(ﬁa@%mm%ﬁﬁ) 189, 700 4, 100
PEA FHEE (— ik E A 131, 800 2, 500
/ ﬁﬁ%@ﬂ(ﬁ%*ﬁﬁﬁﬁ) 70, 300 630
PERA TR (EWIRRA) 70, 300 630
aw?@##@%a@ﬁ&ﬂ 94, 000
i EEE (—iR) 60, 500
AR (W3E%) 29, 600
é}r A TFER (MEE%) 189, 700 4,100 | 10,000
PERAF RO (— B 131, 800 2,500 | 10, 000
PERRA AR (R3E%, FERE) 70, 300 630 | 10,000
PERHA FEORE (B [ S KGR IR ) 48, 800
PEFA FHCEE (— KGR ) 28, 700
/ uﬂﬂéizﬁzﬂ (ELAE KRR AT) 13, 300
PERHA RO ORGRRF A 13, 300
'ﬁﬁ%ﬁﬂ(%@@%mm%ﬁﬁ) 104, 300 2, 000
PERAEFECEE (— e BFE) 72, 800 1,000
/ ﬁﬁ%ﬁﬂ(@&“ﬁﬁﬁﬁ) 39, 200 290
A TFECR CESIFNA) 39, 200 290
a#?ﬁ##@%ﬁ@%@ﬂ 48, 800
A FECEE () 28, 700
AR (L3E%) 13, 300
PERA Rk (A 5) 104, 300 2,000 | 10,000
APERAFECRE (— LA 72, 800 1,000 | 10,000
PERHA TR (R385, ReE i) 39, 200 290 | 10, 000




A EREFRHE

(B FIT4E4AH 1 HHIE)
£ % B F ! E% A %5&%{G% \
Al g K BB | mBEZE
(2 S i B i 78 AR R S T — 25 KRR R S R (TR A) 93, 600
(2 S i B i 78 AR R S T — 28 KRR R RS Rk (R R) 20, 300
(2 S i B i 78 AR R T — 25 KRR R S R RORE (— ) 30, 100
S 3 IR ' 5 2 s R 0 7R R S T — S KRR R AR 90
[ SR A 5 A T 7R AR I — A T KRR P R AR 20, 300
2= 3K i 78 ZE T AT R T AOR) 64 | 29,000 11, 000
B & R FE 1 8 B oy AE I E A AT AR 7, 100
Bic (& AR FE 1 8 B oy AE N E WA A ROk} 2, 000
Bic & R 5 1 3 B 3 e B 2 B A AT ROk 2, 900
Bk AR e TR AR 13, 000
RSB F 0 85k F 3 FHORE 7,100
MR TEHE SRR BRI 2 A2 FECB) 2, 000
HRFENEF B FRAIE PR A AR 2,900
ERsaRRoe (BG) 25T vl H & FECE 64E | 29,000 11, 000
FHEER SRR 64 | 29,000 11, 000
ESEN Ei%% foe (B5) 7FrlRE s o 40k} 2, 000
R - EHEMEWRT (Fh5) FFlREfi s FEoE 2,900
m%@ﬁiﬁ%ﬁiééﬁxﬁiﬁﬂ 2, 000
e 5 S ) A B E RIE PR A A AR 2,900
= A PR EE R vT S A0 54E | 69,400 47, 600
IR RSB Xy GBI #F AT B 55 Aok 17, 500
i ) (2S5 T 5 R AR A TR (MR 2 K A R R A ) 94, 000
i £ FH (25 S T S PR AR A T AORE (— AR R IRE AR ) 60, 500
i P 5 3 S A MR A AR (G SRR R ) 29, 600
i £ (2 S5 BB A S A PR A TR ORGR IR ) 29, 600
0 ) (2S5 T 5 P A A T O (A 2 3 i B ) 189, 700 4,100
i H P K T S R A AR (— R E A 131, 800 2, 500
i H O e S T S R A AR (2 E AR ) 70, 300 630
i ) FH (2 S T SRR A A S A PR AR A TR (B R A 70, 300 630
i A ol S P A RO (R [ 5 3 T KGR IR ) 48, 800
i R A S S A TR (— KRR ) 28, 700
i CH PR A S A PR R A AR (D2 SRR ) 13, 300
%mm%%&@érﬁﬁiﬁﬂ(ﬂni%mm%ﬁ§> 104, 300 2, 000
i H AN S A R A AR (— R E IR 72, 800 1,000
mmm%%%ﬁérﬁﬁiﬁﬂ(aﬁ%ﬁﬁﬁﬁ> 39, 200 290
i £ FH 22 SR A A SR A i S MR A AR RGRIRE I AD) 13,300
fn £ 25 SR A A R A i S R A RO CE AR AD) 39, 200 290




A EREFRHE

(BFRITEAH 1 B BIHE)
F % B E A gl T ER
SN ) BoH | mBEZE

FEVEME TR R AT F 55 TRk 2, 000
FEYEMERE R A2 A5 H R OBk 2, 900

— T PR FER ISR 15 & e i H 5 ARk 22, 500

— R LR R B B B Gk R B ROk 3, 200
% Tl A JBR R OB B 2 00 577 Ak A 1 R 450k 3, 200
WREAINTZEE a7 RS T EOR 3,900
L A i P R PE i i FR 5 Tk 3,900
L A B 2 S TE RS TR 17, 600
L A S 2 A S R I RIE T A AR ROk 2,900
i ) it P S5 i X RIE T A A R8Ok 2, 700
L EE AR 208 15 1E RS AR 3, 900
L FR A OB AR i IE R RS T EOR) 11, 500
JERFEEN 78 2 S5 F BE ROk 14, 600
VRS BRAE 005 F R TR0 3, 900
RIERIFFEE S0 5 F 5 TR0k 3,900
VRNt FH 2 90 7 F R R0 3, 900
FREE/NTE S0 R E OB 3, 900
VR SE A 00 5 RIE 5 P 2 A A0kt 2, 700
T KB FH R G 58 6 3 G 7 PR 5 T A50R) 14, 600
[P/ 58 33 S0 3T F 58 40k 3, 900
AR PR A BB AT 2 i i AR (B B Bk T REk 3, 900
HEYBI RS (A) R GE RO 54| 27,200 10, 200
BB 5T 8 R B TR 64F | 14,700 6, 400
B B Bl AT TR TR0k 10, 500
BRI ELE (FA) SR FHOB 5, 200
HEYBI RS (A) R I AT RO 2, 400
BRI EE () SRR AT RO 4, 000
BB IR 70 2 6 ok 2R A AR A FHORY 2, 400
BB I 5T Rk BT A AT TR 4, 000




